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STANOVENI UTLUMU HLUKU-BEZ TLUMICE HLUKU

fHZ Usek Rozmé Ozn. 63 125 250 500 1000 2000 4000 8000
primi kus 12 d= 710[L= 2[D1m[dB/m] 0.4 0,3 0,2 0,1 0,0 0,0 0,0 0,0
w= 5,90|si= 0,40(D[dB] 0,7 0,5 0,3 0,2 0,0 0,0 0,0 0,0
Lw,okt,pF 772 754 81,4 774 80,4 77,0 69,1 65,7
Lw,pot 44,5
Lw,rel.pot -3,6] 57| 6,9[ -7,7] -8,6] -10,1] 13,4 23,6
Lw,okt,pot 40,9
oblouk 2.3 d= 710 D[dB] 0,0 0,0 0,5 1,5 25 3,5 45 59
w= 59 Lw okt,pf 77.2] 75.4] 80,8] 75.9] 77.9] 73,5 64,6 60,2)
So= 0,40 15,03

Lw obl 23,0

piimi kus 5|D1m[dB/m]
w= 5.90 Si= 0.40 D/[dB] 0,2 0.1 0.1 o,o 0.0 o.o o,o 0.0
Lw,okt,pf 77,0 75,2 80,8 75,9 77,9 73,5 64,6 60,2)
Lw,pot 44,5
Lw,rel.pot -36] -5,7] 6,9] -7.7] -8,6] -10,1] -13.4] -23 6]
Lw,okt,pot 40,9 38,8 37,6 36,8 359 34,5 31,1 20,9)
T-kus 45 dk 710|di 710{D[dB] 3,0 3,0 3,0 3,0 3,0 3,0 3,0 3,0
w= 59 Lw,okt,pF 74,0] 72.2| 77.7| 72,9| 74.9| 70,5] 61,6] 572
Sk= 0,40]si= 0,40[Lsp 15,04
Lw,odb 319 31,9 29,1 23,0 13,5 0,3] 0,0 0,0
primi kus 56 d= L= 2,1[D1m[dB/m] 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4
w= 3,00 si= 1|D[dB] 0,9 0,9 0,9 0,9 0,8 0,8 0,8 0,9
a 1,00 Lw,okt,pf 73,1 71,3 76,9 72,0 74,0 69,7 60,8 564
b 1 Lw,pot 33,9
Lw,rel.pot -3,6] -5,7] 6,9[ -7.7] -8.,6[ -101] -13,4] -23,6
Lw,okt,pot 30,2 28,1 26,9 26,1 25,3 23,8 20,4 10,3}
oblouk 6.7 d= 710[L= 0,8|D[dB] 0,0 0,5 15 2,5 3,5 45 55 6,9)
w= 5,9(Si= 0,40] Lw,okt,pf 73.1] 71.7] 76,2| 70,4 71.4] 66,0/ 56,1 50,7]
So= 0,40 Lsp 15,03

Lw,obl 23,0

piimi kus 710(L: 4{D1m[dB/m]
w= 5,90|si= 0,40 D/[dB] 0,5 0,4 0,2 0,1 o,o o,o o,o o,o
Lw,okt,pF 72,6 71,3 76,0 70,2 714 66,0 56,1 50,7]
Lw,pot 44,5
Lw,rel.pot -3,6] 57| 6,9[ -7,7] -8,6] -10,1] 13,4 23,6
Lw,okt,pot 40,9 38,8 37,6 36,8 35,9 34,5 31,1 20,9)
oblouk 8.9 d= 710[L= 0,8|D[dB] 0,0 0,0 0,5 1,5 25 3,5 45 59
w= 5,9si= 0,40 Lw okt,pf 72,6 71,3 75,5 68,7] 68,8 62,5] 51,6 45,2)
So= 0,40 15,03

Lw obl 23,0

piimi kus 1|D1m[dB/m]
w= 5.90 Si= 0.40 Dy[dB] 0,4 0.3 0.2 0,1 0.0 o.o o,o 0.0
Lw,okt,pf 72,2 71,0 753 68,6 68,8 62,5 51,6 45,2
Lw,pot 44,5
Lw,rel.pot -3,6] 5,7] -6,9] -7,7] -8,6] -10,1] -13,4] -23.§)
Lw,okt,pot 40,9 8 37,6 36,8 359 34,5 31,1 20,9)
oblouk 10_11 d= 710|L= 0,8(D{dB] 0,0 0,0 0,5 1,5 2,5 35 45 5,5
w= 5,9Si= 0,40[Lw,okt,pi 72,2| 71.1] 74.8] 67.1] 66.,3] 58,9] 47.1] 39,7
So= 0,40 Lsp 15,03
Lw,obl 23,0
pFimi kus 11_12 710|L: 5[D1m[dB/m]
w= 5,90|Si= 0,40 Dy[dB] 0,9 0,7 0,4 0,2 0,0 o,o 0,0 0,0
Lw,okt,pf 71,3 704 74,3 66,9 66,3 58,9 47,1 39,7




Lw,pot 44,5
Lw,rel.pot -3,6] -5,7] 6,9[ -7.7] -8,6] -10,1] -134] -23,6
Lw,okt,pot 40,9 38,8 37,6 36,8 35,9 34,5 31,1 20,9)
oblouk 1213 [d= 710|L= 0,8/D[dB] 0,0 0, 0,5 1,5 2,5 3, 4,5 5,9)
= 5,9si= 0,40 Lw,okt,pF 71,3 70,4] 73,8 65,4] 63,8 55,4] 42,7] 34,2)
So= 0,40 Lsp 15,03
Lw,obl 319 31,9 29,1 23,0 13,5 0,3 0,0 0,0
pfimi kus 13 14 |d= 710[L= 2|D1m[dB/m] 0.4 03 0,2 0,1 0,0 0,0 0,0 0,0
w= 5,90|si= 0,40(Dy[dB] 0,7 0,5 0,3 0,2 0,0 0,0 0,0 0,0
Lw,okt,pF 70,6 69,9 73,5 65,3 63,8 55,4 427 34,2)
Lw,pot 44,5
Lw,rel.pot -3,6] 57| -6,9[ -7,7] -8,6] -10,1] -13,4] 23,6
Lw,okt,pot 40,9 38,8 37,6 36,8 359 34,5 31,1 20,9
T-kus 1415 [dk 300|di 710{D[dB] 3,6 3,6 3,6 3,6 3,6 3,6 3,6 3.4
w= 3,3 Lw,okt,pf 67,0 66,3 68,9 55,7 52,2 46,9 344 24,8
Sk= 0,07 Lsp -8,80
Si= 0,47[Lw,odb 9,8 10,8 9,2) 45 0,0 0,0 0,0 0,0
Pruzna hadice D{dB]
Vyustka 1617 [d= 600[h= D[dB] 8,2 3,8 0,0 0,0 0,0 0,0 0,0 0,0
Lw,okt 57,5 44,0 53.4] 425| 38.1] 32,7] 17.6] 12,0]
S= 0,2835 Lw,vyustky 40,0
Lwokt,vyust 30,0 31,0 31,0 31,0 28,0 19,0 8,0 0,0
T-kus 1418 [dk 710|di 710{D[dB] 3,0 3,0 3,0 3,0 3,0 3,0 3,0 3,0
= 5,34 Lw,okt,pf 67.6 66,9 70,5 62,3 60,8 52,5 40,0 31,4
Sk= 0,40 Lsp 12,88
Si= 0,79[Lw,odb 29,1 28,7 25,4 18,9 8,8 0,0 0,0 0,0
primi kus 18 19 |d= 710[L= 2,6|D1m[dB/m] 0.4 0,3 0,2 0,1 0,0 0,0 0,0 0,0
w= 5,34|si= 0,3957185|Dy[dB] 0,9 0,7, 0,5 0,2 0,0 0,0 0,0 0,0
Lw,okt,pf 66,6 66,2 70,0 62,0 60,8 52,5 40,0 314
Lw,pot 42,4
Lwrel.pot 3,6] 5.7] 6.9] 7.7] -8,6] -101] 13,4 -23,6
Lw,okt,pot 38,7 6,6 35,4 34,6 33,8 32,3 18,8}
T-kus 19 20 |dk 300|di 630(D[dB] 35 3,5 3,5 35 3,5 3,5 35 3,
w= 3,3 Lw,okt,pF 63,1 62,7 65,5 52,5 49,3 44,0 315 21,9
Sk= 0,07 Lsp 8,80
Si= 0,38Lw,odb 9.8 10,8 9,2) 4.5 0,0 0,0 0.0 0.0
D{dB]
Vyustka 1617 |d= 600[h= D[dB] 6,2 3,8 0,0 0,0 0,0 0,0 0,0 0,0
Lw,okt 55,7 40.4] 50,0 39,3 35.2] 29,8 14,7] 9.1
S= 0,28 Lw,vyustky 40,0
Lwokt,vyust 30,0 31,0 31,0 31,0 28,0 19,0 8,0 0,0
f 63 125) 250 500 1000 2000 4000 8000
Lp1[dB] 52,70 39,40 48,55 37,92 33,69 28,02 13,19 7,44
Lp2 [dB] 50,86 36,06 45,21 35,09 31,14 25,28 10,68 4,79



STANOVENI UTLUMU HLUKU-S TLUMICE HLUKU

Hz Usek Rozmé Ozn 63 125 250 500 1000 2000 4000 8000
Tlumic 1.2 D{dB] 2 4 10 20 22 14 8 5
Lw,oKt,pf 759 71,9 71,7 57,6 58,4 63 61,1 60,7
Lwokt,T 55 46 40 32 23 14 0
oblouk 2.3 d= 710 D{dB] 0, 0,0 0,5 1, 2, 3, 4,5 5,5
w= 5.9 Lw,okt,pF 75,9] 71,9] 71,2 56,1 55,9] 59,5 56,6 55,2|
So= 0,40 Lsp 15,03
Lw,obl 23,0
pfimi kus 710]L: 5|D1m[dB/m]
w= 5,90(Si= 0, 40 D/[dB] 0 2 0,1 0,1 0,0 0,0 o,o o o 0,0
Lw,okt,pF 75,8 71,8 711 56,1 55,9 59,5 56,6 55,2
Lw,pot 44,5
Lw,rel.pot -36] 57] 6,9 7,7 -86] -10,1] 13,4 236
Lw,0Kt,pot 40,9 38,8 37,6 36,8 35,9 34,5 31,1 20,9
T-kus 4.5 dk= 710[di= 710{D[dB] 3,0 3,0 3,0 3,0 3,0 3,0 3,0 3,0
w= 5.9 Lw,okt,pF 72,7] 68,8] 68,1 53,1] 52,9] 56,5 53,6/ 52,2|
Sk= 0,40[Si= 0[Lsp 15,04
Lw,odb 23,0
pFimi kus d= 1]D1m[dB/m]
w= 3oos|= 1 D{dB] 09 09 09 09 08 08 os 0,8
a 1,00 Lw,okt,pf 71,8 67,9 67,2 52,2 52,1 55,7 52,8 51,4
b 1 Lw,pot 339
Lw,rel.pot -36] 57] 6,9 -7,7] 86| -10,1] 13,4 236
Lw,0Kt,pot 30,2 28,1 26,9 26,1 25,3 238 20,4 10,3
oblouk 6_7 d= 710{L= 0,8D[dB] 0,0 0,5 1,5 25 3,5 45 55 6,5
w= 5,9[Si= 0,40] Lw,okt,pi 71,8] 68,3] 66,6 50,6/ 49,4 52,0] 48.1] 45.7|
So= 0,40 Lsp 15,03
Lw,obl 23,0
pfimi kus 710]L: 4|D1m[dB/m]
w= 5,90(Si= 040 D/[dB] 05 04 02 01 00 oo oo 0,0
Lw,okt,pF 71,3 67,9 66,3 50,5 49,4 52,0 48,1 45,7
Lw,pot 44,5
Lw,rel.pot -3,6] 5,7] 6,9] 7.7 -8,6] -101] -13,4] 23,6
Lw,0Kt,pot 40,9 38,8 37,6 36,8 35,9 34,5 31,1 20,9
oblouk 8.9 d= 710{L= 0,8D[dB] 0,0 0,0 0,5 1,5 2,5 3,5 4,5 5,5
w= 5,9|Si= 0,40] Lw,okt,pf 71,3] 67,9] 65,8] 49,2] 47.1] 48,5] 43,7] 40,2]
So= 0,40 Lsp 15,03
Lw,obl 23,0
pfimi kus 710]L: 1|D1m[dB/m]
w= 5,90(Si= 040 D/[dB] 04 03 02 01 00 oo oo 0,0
Lw,okt,pF 70,9 67,6 65,6 49,1 471 48,5 437 40,2
Lw,pot 44,5
Lw,rel.pot -36] 57] 6,9 7,7 86| -10,1] 13,4 236
Lw,0Kt,pot 40,9 38,8 37,6 36,8 359 34,5 31,1 20,9
oblouk 10_11 d= 710{L= 0,8D[dB] 0,0 0,0 0,5 1,5 2,5 3,5 4,5 5,5
w= 5,9[si= 0,40]Lw,okt,pf 70,9] 67,6 65.1] 47,8] 44,9] 45,.2] 39,4] 34,7|
So= 0,40 Lsp 15,03
Lw,obl 23,0
pfimi kus 11_12 710]L: 5|D1m[dB/m]
w= 5,90(Si= 040 D/[dB] 09 07 04 02 00 oo oo 0,0
Lw,okt,pF 70,0 66,9 64,7 47,6 44,9 45,2 39,4 34,7




Lw,pot 44,5
Lw,rel.pot -36] -5,7] 6,9 -7,7] -8,6] -10,1] -13,4] 23,6
Lw,0Kt,pot 40,9 38,8 37,6 36,8 359 34,5 31,1 20,9
oblouk 12_13 d= 710{L= 0,8/D[dB] 0,0 0,0 0,5 1,5 25 3,5 4,5 5,5
w= 5,9[Si= 0,40 Lw okt,pF 70.1] 66,9] 64,2| 46,4 42,9| 42,0] 35,5] 29.4|
So= 0,40 15,03

Lw obl 23,0

primi kus 13_14 710|L: 2[D1m[dB/m]
w= 5,90(Si= 0,40(D,[dB] 0,7 0,5 0,3 0,2 0,0 o,o o,o 0,0
Lw,okt,pf 69,3 66,4 63,8 46,3 42,9 42,0 35,5 29,4
Lw,pot 44,5
Lw,rel.pot -3,6] -5,7] 6,9] -7.7] -8,6] -101] -13,4] -23,6)
Lw,0Kt,pot 40,9 38,8 37,6 36,8 359 34,5 31,1 20,9
T-kus 14_15 dk= 300/{di= 710{D[dB] 3,6 3,6 36 3,6 3,6 3,6 36 3,6
w= 3,3 Lw,okt,pf 65,7 62,8 59,3 37,2 321 34,1 28,2 20,4
Sk= 0,07 Lsp -8,80
Si= 0,47[Lw,0db 9.8 10,8 9,2 4,5 0,0 0,0 0,0 0,0
D{dB]
Vyustka 16_17 d= 600|h= D{dB] 8,2 3,8 0,0 0,0 0,0 0,0 0,0 0,0
Lw,okt 56,3 40,6] 43.8| 24,0] 18,0[ 19,9] 11,4] 7.6
S= 0,2835 Lw,vyustky 40,0
Lwokt,vyust 30,0 31,0 31,0 31,0 28,0 19,0 8,0 0,0
T-kus 14_18 dk= 710[di= 710|D[dB] 3,0 3,0 3,0 3,0 3,0 3,0 3,0 3,0
w= 534 Lw okt,pf 66,3 634 60,8 438 40,7 39,7 33,8 27,0
Sk= 0, 40 12,88
Lw odb 18,9
primikus __ [18_19 710][L 6|D1m[dB/m]
w= 5,34|Si= 0,40 D/[dB] 0,9 0,7 0,5 0,2 o,o o,o o,o o,o
Lw,okt,pf 65,4 62,7 60,4 43,6 40,7 39,7 33,8 27,0
Lw,pot 424
Lw,rel.pot -3,6] 5,7] 6,9] 7,7 -8,6] -10,1] 13,4 23,6
Lw,0Kt,pot 38,7 36,6 35,4 34,6 33,8 32,3 28,9 18,8
T-kus 19 20 dk 300/ di 630|D{dB] 3,5 3,5 35 3,5 3,5 3,5 35 3,5
= 3.3 Lw,okt,pf 619 59,2 55,9 34,1 29,2 31,2 253 17,5
Sk= 0,07 Lsp -8,80
Si= 0,38[Lw,0db 9.8 10,8 9,2 45 0,0 0,0 0,0 0,0
D[dB]
Vyustka 2122 d= 600 D{dB] 8,2 3,8 0,0 0,0 0,0 0,0 0,0 0,0
Lw,okt 52,5 37,0 40,4] 20,9] 151] 17,0 8,5 4,7
Lw,vyustky 40,0

Lwokt, viust 31,0

f 63 125 250 500 1000 2000 4000 8000

Lp1 [dB] 51,46 36,20 39,13 26,95 23,59 17,66 8,21 3,45
Lp2 [dB] 47,63 33,13 36,02 26,57 23,39 16,30 6,44 1,15
Lp3 [dB] 47,63 33,13 36,02 26,57 23,39 16,30 6,44 1,15
Lp [dB]

Kai 26,2 -16,1 8,6 3,2 0 1,2 1 1,1

LpA 36,6 |
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